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Good answers should be concise and right to the points.

1. Study the following case and answer the questions.

Cunard's Grand Gamble: Is There A Demand Out There?
The Wall Street Journal, Thursday October 2, 2003.
Carnival Corporation's Cunard cruise line is making a big gamble. On January 12, 2004 the Queen Mary 2 will begin its maiden voyage. The new ship, a $780 million luxury ocean liner, is 23 stories tall and the equivalent of four football fields in length. Amenities include deluxe penthouses, a champagne bar, a planetarium, and a pillow concierge offering nine types of pillows. Prices range from inside cabins at $1,499 for a fourteen-day voyage on the low end, to as high as $37,499 per person for a two-story apartment on that same voyage.

The ship will house 2,620 passengers and comes on line at a time when other cruise ships are having trouble filling berths. Part of the problem stems from the fact that the ship was ordered over three years ago when demand for cruises was higher. Now, post 911 fears and food poisoning outbreaks on several cruise lines may have altered demand. Although the inaugural voyage is sold out, some industry analysts wonder if consumer demand will be sustainable on subsequent trips on the pricey boat.
Questions

a. What are some of the factors that might impact demand for this luxury liner?

b. What factors will impact supply for new liners?

c. Brainstorm about the difficulty in forecasting demand for a product that many years in advance. What are some of the problems that one might encounter?

2. Explain why a MRS between two goods must be equal to the ratio of the prices of the goods for the consumer to maximize satisfaction (Hint: Consider how you can get higher satisfaction if MRS is NOT the same as price ratio).

3. Connie has a monthly budget of $200 to allocate among two goods: meat and potatoes.

a.
Suppose meat costs $4 per pound and potatoes cost $2 per pound.  Draw her budget constraint.

b.
Suppose also that her utility function is given by the equation u(M, P) = 2M + P.  What combination of meat and potatoes should she buy to maximize her utility?  (Hint: Meat and potatoes are perfect substitutes.)

c.
Connie’s supermarket has a special promotion.  If she buys 20 pounds of potatoes (at $2 per pound), she gets the next 10 pounds for free.  This offer applies only to the first 20 pounds she buys.  All potatoes in excess of the first 20 pounds (excluding bonus potatoes) are still $2 per pound.  Draw her budget constraint.
d.
An outbreak of potato rot raises the price of potatoes to $4 per pound. The supermarket ends its promotion.  What does her budget constraint look like now?  What combination of meat and potatoes maximizes her utility?
4. The ACME corporation determines that at current prices the demand for its computer chips has a price elasticity of -2 in the short run, while the price elasticity for its disk drives is -1.

a.
If the corporation decides to raise the price of both products by 10 percent, what will happen to its sales?  To its sales revenue?

b.
Can you tell from the available information which product will generate the most revenue for the firm?  If yes, why?  If not, what additional information would you need?
